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Manaep avm = Kpeant NMafwi-Gen | Opin- Baa- | Dacrypai
# Cilkl e MEH ﬂnl‘ﬂlﬂl

1 | Kadakeran Tapixii 2P 2 W A- 3,67 5 |

2 | lin sane epkin ofiany TAPHX LI I 3 75 B- 2,67 4 |
3 | Juka wane JcTETHRA 3 90 A- 3,67 5
4 | Anasxtuka 3 77 B- | 2,67 4
5§ | HapbiKThiK IKOHOMHKA MEH MEHELKMENTTIN Herivaepi 3 85 - 3,33 4
6 | Jdepexroaorin MeH aoroneans nerivaepi 3 76 B- 2,67 4
7 | Meanrornkaawik webepaiknen coltaey emepi nerisepi 2 87 B+ 333 4
8 | Mexkrentany 2 85 B+ 333 4
9 | KyKnIKTaHY 2 80 B 3,0 4
TleanroriKanbiK RCHXOA0THA 3 90 A- 3,67 5
DuToanIaiin wane onep 3 86 B+ 3,33 4
XaNbiKAPAILIK KATLIHACTAD B3CKTi Macencaepi 2 922 A- 3,67 5
| Jorwks i 80 B 2,0 4
. ThIK. 1y FKINE pacimaep 3 91 A- 3,67 5
| 15 Fbl CARCH | W TAPHLL 2 92 A- 3,67 5
16 | Kep BIEKTI Maceneaepi 3 91 A= 3,67 5
17 | Ce e 2 82 B 3,0 4
| MeH JaicTemeci k] 92 A- 3,67 5
MUK 2 80 B 3.0 4
s =1 52 B 3.0 4
3 92 A- 3,67 5
3 77 B- 2,67 4
i 3 85 B+ 33 4
- L) To B- 2,67 4
BIMEN afinaakicy 1 87 B+ 333 4
apa Gaflaansicey/Garaapaama 2 85 B+ 333 4
e 2 80 B a0 4
. 4] 3 90 A- 3,67 5
e 3 86 B+ 333 4
aeri neaaroruKkaALIK 2 922 A- 3,67 5

R
MEHXOA0TT- T 90 A- 3,67 5
3 ey o | {1] B 3,0 4
aqiel 2 90 A- 3,67 5
sl 3 75 B- 2,67 4
SRR 3 90 A- 3,67 5
IbIK 3 7 B- 1,67 4
i & 3 85 B+ 3,33 4
L: ' 3 76 B- 2,67 4
] 87 B+ 333 4
2 85 B+ 33 4
A 2 80 B 3,0 4
= 3 90 A- 3,67 5
=3 86 B+ 333 4
[T 92 A- 3,67 5
1 50 B .0 4
Y 91 A- 3,67 5
s 92 A- 3,67 5
"% 91 A- 3,67 5
82 B 3,0 4
9 h' 3.6? -5
= [ B 3,0 4
1B 92 A= 3,67 5
.91 A- 3,67 5
92 A- 3,67 5
91 A- 3.67 5
7 B 3.0 4
D A= 367 5
e 367 5
_A- 3,67 5
B 3,0 4
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